
Séquence de Nombres Linéaires (D)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 566 791 941Différence commune:2. 595 620 645 695 770 795Différence commune:3. 234 384 909Différence commune:4. 823 853 863 883Différence commune:5. 532 582 632 782 932Différence commune:6. 219 224 239 244 249 254 259Différence commune:7. 146 196 246 346 396 446 496 546Différence commune:8. 639 664 689 714 739 764Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (D) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 266 341 416 491 566 641 716 791 866 941Différence commune: 752. 570 595 620 645 670 695 720 745 770 795Différence commune: 253. 234 309 384 459 534 609 684 759 834 909Différence commune: 754. 793 803 813 823 833 843 853 863 873 883Différence commune: 105. 532 582 632 682 732 782 832 882 932 982Différence commune: 506. 219 224 229 234 239 244 249 254 259 264Différence commune: 57. 146 196 246 296 346 396 446 496 546 596Différence commune: 508. 564 589 614 639 664 689 714 739 764 789Différence commune: 25Mathslibres.com


